
 

 

 
 
 
 
PASSARELA TIPO  
 
Altura = 2,20 m 
Largura = 2,00m 
 
Imagem ilustrativa do 
modelo de passarela. 
 

 
 
 

PASSARELA  PARA 
PASSAGEM DE 

CAMINHÃO 
Cobertura removível 

[CCHE – JACAREZINHO] 
Altura = 2,20m 
Largura = 3,0m 

 
(1 MÓDULO) 

 



PASSARELA PARA 
PASSAGEM DE UM 
VEÍCULO 
[CCP – CORNÉLIO] 
Altura =  3,0m 
Largura = 3,0m 
 
(1 MÓDULO) 

 
 
 
 
PASSARELA PARA 
PASSAGEM DE 2 (dois) 
VEÍCULOS 
[CCP – CORNÉLIO] 
Altura =  3,0m 
Largura = 3,0m 
 
 
(1 MÓDULO) 

 
PASSARELA PARA 
PEDESTRES 
[CCP – CORNÉLIO] 
[CCHE – JACAREZINHO] 

 

  

 

 


